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Abstract In 2009, Gentry proposed a concrete method for constructing a fully homomorphic
encryption scheme using ideal lattices. Gentry’s construction starts from a somewhat homomor-
phic encryption scheme, which supports limited evaluations over encrypted data. To analyze
the relation between its evaluations and security, we attacked the lattice problem ensuring the
security of Gentry’s somewhat homomorphic encryption scheme. In this paper, we report our
experimental results of attacking the lattice problem using the LLL algorithm, which is one of
the typical lattice reduction algorithms.
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